Pp——— 3p$—— 2p p==——0,=6
A
34— S  x— P ALy AS=kIn&
9.=0s9, 0. =050, _
=9.022 =232 6 5 = 0c=2

%] 8.1 Na D ET-1KEE

8.2AH & AS

- U(0)

t

(H,+Cl)/2 0K A | TK
& &=
u(0)
> nm—>

U - U(0)
=& D
BB

8.3 NEf— /L X — HL

il
8.4 N =R /L¥—

MR 8.1
1) 298 KIZHT 5, KABIE Hy+ 1, > 2 HI O4RE) - [Fl#x -

ke =254 (ASyin / K, ASrot / K, ASirans / K, ASeiec / K) %L/LTOD hq WD
HI

H, I
RENEE v [em™] 4162 213
AR ER B [em™] 59.3 0.0373
[Elfs6 R o 2 2
Z & m[amu] 2 254
EFIREBOLZEE 1 1

2) LofER L FTOEBEAR T XL E—DfEN D, 298 K (2
ER A RO X

H, 12(9)
AH (298 K) [kJ mol™] 0 62.42

it - BRI
R L

2230
6.43

1

128

B D Z OISO A

1

HI

26.50

Copyright © 2001-2006 by A. Miyoshi, All rights reserved.

2006 WER L2 1| 3G R - 12

RIBIT R+ —
1
U —U(O):—Zeigi exp(— ;)
_ (GQJ (aanJ ©.6)
Q op s )
B=1/kT
*}E@ Ul)ib :XLkT
e” -1
X = hv/KT
i Uy :%kT
r: EHEORTE; BERS T r=2, JEERD T r=3
jﬁi@ Utrans :%kT
I>rOoE-—
5=V ‘TU © ko 8.7)

wE s, X - ‘X}k
e ”( € )
(x=hv/KT)
EILR Srot = InMJr%(lHn kTJ k
o av

T(N)(r/2)=1 @5 7), T(Or/2)=r FEE#S 1)
Bay = B (EL#45 1), Bay = (ABC)Y® GEE #1451

Wit Sy = E %In 27KT. v}k
o= 0 OV = 11 (B0 R )

<
Il ti\
._H

’:jé:% Selec (In gelec )k

DN FETE
VLAY S A- A(0)=—kTInQ
T — H-H(0)=U -U(0)+ pV
X7 AR G-G(0)=A-A0)+ pV

(8.al)

(8.a2)

(8.a3)

(8.a4)

(8.a5)

(8.a6)

(8.a7)

(8.a8)
(8.29)
(8.a10)



